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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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1. (1 What do you mean by Open System in

Thermodynamics ?
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(i) Write the drawbacks of first law of

Thermodynamics.
SRt & gem fram &) wfar fafew)

(ii1) What 1is the value of Joule-Thomson
coefficient for ideal gas ?
st T & fau Sa-ofHea quie w1 AE R
BT ?
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(iv)

(v)

(vi)

(vii)

Write the statement of principle of

equipartition of energy.
e & gHfaueH & fagra &1 wem fafem)

Write the Maxwell-Boltzmann distribution

law.
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Write the Planck’s Radiation Law.
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“In Joule-Thomson porous plug experiment,

enthalpy of gas does not remain constant.”

Is this statement true ?
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Section-B 4x7=28

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should

not exceed 200 words. Each question carries

7 marks.
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. Explain the reversibility of slow isothermal process.

Also give the examples of irreversible processes.
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3. Carnot engine has efficiency of 40% and its sink

temperature is 300 K. How much temperature of
source should be increased in order to make its

efficiency 60% ?
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o 300 K ¥ 39 ¥ % avaE § fea gfs

T =y el foh gemr 60% = Sy ?

. An ideal gas undergoes from (P;, V) state to
(P,, V,) state. Obtain the expression for change in
entropy of the gas.
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. Obtain the expression of Joule-Thomson coefficient

for Van der Waal’s gases.
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. Explain the specific heat of Liquid Helium.
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. Give the physical significance of entropy in terms

of thermodynamic probability.
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. Explain the concept of indistinguishability in

Statistical Physics.
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9. Explain the Fermi-Dirac distribution curve for

finite temperature as well as for zero temperature.
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